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Time Allowed : 2 Hours] [Maximum Marks : 120

) INSTRUCTIONS
A IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU
SHOULD CHECK THAT THIS BOOKLET DOES NOT HAVE ANY UNPRINTED OR
TORN OR MISSING PAGES OR ITEMS ETC. IF SO, GET IT REPLACED BY A
COMPLETE TEST BOOKLET.

2. ENCODE CLEARLY THE TEST BOOKLET SERIES A, B, C OR D AS THE CASE
MAY BE IN THE APPROPRIATE PLACE.
4. You have to enter your Roll Number on the Test Booklet

in the Box provided alongside. DO NOT write anything else
on the Test Booklet.

4. This Test Booklet contains 120 items (questions). Each item is ?riuted both in Hindi and
English. Each item oomrrlses four responses (answers). You will select the response which
you want to mark on the Answer Sheet. In case you feel that there is more than one
correct response, mark the response which you consider the best, In any case, choose ONLY
ONE response for each item.

You have to mark all your responses ONLY on the separate Answer Sheet provided. No
erasing/correction fluid is allowed. . . ] :

8. All items carry :&uﬂl marks. indiresult.in whatsapp - 9352018749

T Before you proc to mark in the Answer Sheet the response to various items in the
Test Booklet, you have to fill in some particulars in the Answer Sheet as per instructions

g sent to vou with your Admission Certificate. ER
I 8. After you have completed filling in all your responses on the Answer Sheet and the examination

has concluded, you should hand over to the Inviﬁilator only the Answer Sheet, You are
rmitted to take away with you the Test Booklet.
9. heets for rough work are appended in the Test Booklet at the end.
10. Penalty for wrong answers :
THERE WILL BE PENALTY (NEGATIVE MARKING) FOR WRONG ANSWERS
MARKED BY A CANDIDATE IN THE OBJECTIVE TYPE QUESTION PAPERS.
(&) There are four alternatives for the answers to every gucestion, For each question
for which a wrong answer has been given by the candidate, one fourth (0.25) of
the marks assigned to that question will be deducted as penalty.
(£2) If a candidate gives more than one answer, it will be treated as a wrong answer

even if one of the given answer happen to be correct and there will be same penalty
as above for that guestion. '

(iii) If a question is lefl blank ie. no answer is given by the candidate, there will be
no nalty for that question.

11. In case of any discrepancy found in English and Hindi Version in this paper, the English
Version- may be treated as correct and final,

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO

,Note : Hindi_version ol the instructions is printed on the back cover of this Booklet.
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1. Which mountain pass joins Mandi With which region of H.P. is
and Kullu Districts of HP. ?
Bakayang folk dance associated 7
(A) Dulchi
(A) Chamba
(B) Padri
(C) Drati (B) Kinnaur
(ID) Tori (C) Kangra
2. Around which century were rock (D) Lahaul Spiti
temples of Masrur in Kangra
District of H.P. built ? Near which town of H.P. is
(A) 3rd and 4th century Daranghati Sanctuary ?
(B) 7th and 8th century (A) Solan
(C) 9th and 10th century
(B) Shimla
(D) 11th and 12th century .
(C) Rampur Bushahr
3. The Government of India has
sanctioned five Model Schools for the (D) Arki
educationally backward blocks of . . ) .
Ch O T T —— On the bank of which river is Suketi
H.P. How many of them are in Fossil Park ?
Chamba District ? -
(A) Giri
(A) One '
(B) Bata
{(B) Two
Thre (C) Markanda
© , . indiresult.in whatsapp - 9352018749
(D) Four = (D) Andhra
F//'. TBC : PKS-9517-NTP—A 2
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HEa el & few & wodl o wmeg

foreil = shga & 7
(A) o=t

(B) wed

(C) FTw

(D) A

few. & =mE foat & muey § fog
=z "=l (% 2o9ew) &1 e fFa
A=l B HEIE g2 ?

(A) T she <o
(B) @raal iR sweEt
(C) =t o Zgei
(D) TaRed] =T AvEEl

urd TR 3 few. & v 3 faen
forcli & foan B &% # fuod @vel B
| e e sy famrem wiea fE
= | fem o @ d £ 2

(A) TH
(B) A
(C) @
(D) =R
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e W7 e, ® few & R
qT ¥ 7

(A) =941

(B) fa=in

(C) =TeT

(D) wEge wifa

e ooy e F Fg = S

e ¥ ?

(A) HreH

(B) feram

(C) THYX el
(D) @i

wEdl stayn uE (wifge o) R
TR W WE ?

(A) fdt

(B) =11

(C) Ar&E .
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In which town of H.P. was the first

Skill Development Centre set up in
H.P. in 2013 AD. ?

(A) Nahan

(B) Bilaspur

(C) Hamirpur

(D) Gagret

Which sanitation campaign was

replaced by Swachh Bharat Mission
{Gramin) in 2014-15 ?

(A) Nirmal Bharat Abhiyan

(B) Swachh Gramin Abhiyan

(C) Rajiv Swachh Bharat Abhiyan
(D) Indira Nirmal Bharat Abhiyan

Approximately what percentage of
total area of H.P. falls in Lahaul-

Spiti District ?
(A) 14.03
(B) 18.64

(C) 24.85

(D) 28.16

“TBC : PKS-9517-NTP—A
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11.
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What is the approximate altitude of
Shikari Devi temple situated in
Karsog region of Mandi District of
HP. T

(A) 5000 ft.
(B) 10000 ft.
(C) 15000 ft.
(D) 20000 ft.

Which Raja of Bilaspur princely
state was exiled from the state
around 1903 A.D. and ordered to
stay at Benaras ?

(A) Amar Chand
(B) Mahan Chand
(C) Hira Chand
(D) Bijai -Chand

-

When was the custom of Rit
Marriage abolished in the Bushahr
princely state ?

(A) 1915 A.D.

(B) 1920 A.D.

(C) 1925 A.D.

indiresult.in whatsapp - 9352018749
(D) 1930 A.D.
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faw. 7 2013 f9at H gad TEen 9@

famra #= 59 =@ § wfya fFma
™= o9 7

(A) #rEd

- (B) Ta@maEg

(C) BT

(D) M

2014-15 H e ==wm Hqfen & WA
W S I e () SEEE I
& T ?

(A) Fda wrm sfvam
(B) ==8 wEw #AREE
(C) Tsia == 9Wa sAfaar
(D) 3= fada v &faEr

feqraa w391 & H/HA A (ATHA) H
e TR wiera @ge wifa @ |
LU S
(A) 14.03

(B) 18.64

(C) 24.85
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feu. & vl foa  swEm 49 § feum
ot 2t iz = wag ae @ S
v faeedt & 2

(A) 5000 H2
(B) 10000 %2
(C) 15000 H2
(D) 20000 2

1903 FTHal & Ay faamq fgma
= fea en = fama 8 faifaa =
fear T s wRE | wY W o
a2

(A) 3 ==
(B) HeM o=
(C) &1 ==
(D) fosma w17

v frama § fa faam <1 991 9
o4 g w G T ?
(A) 1915 Zmat H
(B) 1920 $w=1 d
(C) 1925 T@at #
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13. In 1946 which was the smallest

state/Thakurai among the Simla Hill

(/') YOUR SII.IECEEIS FQRIER
Which Raja of Mandi princely state

was son of Ishwari Sen by a

states 7 concubine ?

(A) Delath (A) Zalim Sen
(B) Dhadi (B) Balbir Sen
(C) Ratesh (C) Shamsher Sen
(D) Beja (D) .Bijai Sen

. Whi 2
14, Diring the Teigs’ of whish Rajs. 6f ‘17 hich of the following restored the

territory of Kutlehar princely stat
Kullu was Lahul conquered by the rritory ot iau r princely state

which had been seized by Raja
Raja of Chamba ?

Sansar Chand of Kangra ?

(A) Suraj Pal
- (A) the Sikhs

(B) Raksh Pal
(B) the Gurkhas

dar Pal
(@) Ruder, Ea (C) the British

() Kam Fal (D) the Mughals

15. The quantum of land revenue in 18. To wl{ich vegion of Kangra District

of H.P. did Justice Mehar Chand
Mahajan belong ?

Bilaspur princely state which was
paid in kind till 1863 was ........... .

(A) one-third of the produce (A) Palampur

(B) one-fourth of the produce (B) Shahpur

(C) one-fifth of the produce (C) Nurpur
) indiresult.in whatsapp - 9352018749
(D) one-sixth of the produce (D) Nagrota
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1946 Tu=t A foren fee ==8 9 w48

o frama/omud Fadr 9 2
(A) Be1e

(B) st/

(C) w9

(D) =0

e, & f@g T & yEAwE § Agd
= g @ wen 9 sa fa@m a2

(A) HEHEA
(B) T&9red
(C) FTEu«

(D) Fviura

yfy Tora St 1863 $HEl A faenmEt
faaraa § wea & 3w & w9 § fom
S @ I w5 e B R wm
LG 1

(A) TemEr = drea fewm
(B) Hamm w1 e fesm
(C) %erar 1 dtaai femm
(D) TEr =1 wa femm
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Tt g =1 S US SrE0aT W
e w1 A @ 2

(A) wifem &7
(B) #e=it 87
(C) A9 &7
D) fasg ¥4

TRy Foad &1 & S T R [
Tar 9= 1 wfaa fam a1 =fataa
3 ¥ fpey gy G e @ 2

(A) fagi 3

(B) i@l 3

(C) = 3

(D) goet A

=Pl fe == e few. & wE
faa = fem &3 | gaEf@m 4 2
(A) WYL

(B) wmeqt

(C) TT
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19. Among the following which was the | 22. What was the Consumer Price
last Thakurai to be granted Sanad Index Numbers for industrial
by the British ? workers in H.P. during 2014-15 7
(Base 2001 = 100)

indiresult.in whatsapp - 9352018749

(A) Kumarsain

(A) 176
(B) Kuthar
(B) 193
(C) Darkoti
(C) 213
(D) TharoaCh (D) 225
20. According to the Sanad granted to | o3  Which was the ancestral village of
the quq of Sirmaur in 1815 A.D. famous Hindi writer Yashpal in
which of the following territories was Hamirpur District of H.P. ?
returned to him ? (A) Rangas
(A) Jaunsar-Bawar (B) Rail
(B) Morni (C) Bhumpal
(C) Babar (D) Kalyal
(D) Kayar-Da-Dun 24. Besides Chini Tehsil of Mahasu

District, ‘how many villages of
21. What is the number of members

from the tribal areas in the H.P.
Vidhan Sabha elected in 2012 A.D.?

Rampur Tehsil were transferred

to constitute Kinnaur District in

1960 AD. ?
(A) One (A) 14
(B) Two ' (.B) 18
(C) Three (C) 22
(D) Four . (D) 26

( " TBC : PKS-9517-NTP—A 8 indiresult.in whatsapp - 9352018749
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19. Ffry TTER § W wrE =3 T sifem | 220 2014-15 F fewrEE waw H afaifes
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owud Frefafea § & s 4@ 2 afiei & fog oM e GERE
S—— femr @1 2 (28R 2001 = 100)
- (A) 175

(B) 193
o m (C) 213
R (D) 225

20. fooit $ wsn & 1815 Smat H &
g = o1gan Fefated § | 9 a9
] wha T ™ ?

23. faw. % vy oo i @ & wfog s@s
TOAE W Uge ME HEE @ 7

(A) T
(A) “HER-=mE

(B) 1=
(B) =T

(C) =<1
(C) 9=t

(D) oA

e 24. 1960 $wat # far=in fordt =1 i 3

21. 2012 dwE # = v few. fAum uw % form Tremy e 7 iR el @ S
H ST A3 A ¥ TS e S G T A # e T TR W
fwat & 2 A ™™ g ?

(A) TH (A) 14

(B) 2 (B) 18

(C) @A (C) 22

(D) =R (D) 26
indiresult.in whatsapp - 9352018749
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Who was the first Speaker of H.P.
Vidhan Sabha (1952) ?

(A) Krishan Chander
(B) Krishna Mohini
(C) Desraj Mahajan
(D) Jaiwant Ram

According to 2010-11 Agricultural
census what is the percentage
of small and marginal holdings in

HP:?

(A) 69.78
(B) 70.34
(C) 80.61
(D) 87.95

Which District of H.P. recorded the
highest growth rate of population
during 2001-2011 decade ?

(A) Sirmaur
(B) Una
(C) Solan

(D) Chamba

» TBC : PKS-9517-NTP—A
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29.

30.
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Which craftsman in the court of Raja
Meru Varman of Chamba built the

metal alloy (ashtdhatu) images at

Bharmour and Chhatrari temples ?
(A) Gugga

(B) Nainsukh

(C) Manaku

(D) Nikka

Adolescent girls of which age-group
are covered under the Kishori Shakti
Yojna in H.P, ?

(A) 10-16 years
(B) 11-17 years
(C) 11-18 years
(D 12-29 years

When was Bonded Labour System
{(Abolition) Act passed in H.P. 7
(A) 1970

(B) 1976

(C) 1980

indiresult.in whatsapp - 9352018749
(D) 1987
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few. faum 9w (1952 H) =1 wEen et
& o9 7

(A) Fo1 ==
(B) oom Hife
(C) 2HU™ HESHA
(D) wEEd UH

2010-11 =1 Ffw A % sgEn T
# =g i dara s wiva @
% 2

(A) 69.78
(B) 70.34
(C) 80.61
(D) 87.95

2001-2011 % zv& # fou. & fra o=
# weEE gfe o wad afaw T &
w2

(A) fawin
(B) 3

(C) Hrem

(D) ===

TBC : PKS-9517-NTP—A
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T # U T IHT W OT@ER Y 3
farg w2 woR iR wawdt Wl
# apeag Wt il wE o 2

(A) T

(B) = H@

(C) 7%
(D) e

few. # faw smg-= =1 feeifcd =i
el wifaa Fren & er=ria wnfae &

™% ?

(A) 10-16 =4
(B) 11-17 =
(C) 11-18 a5

(D) 12-20 a4

few. # wgem WegR WunEd (3 EH)
HAfuftam &9 T9 T30 ?

(A) 1970 3

(B) 1976 #

indiresult.in whatsapp - 9352018749
(C) 1980 |

(D) 1987 #
P.T.O.
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When was the Amrit Bazar Patrika
started in Bangla ?

(A) 1865 A.D.
(B) 1866 A.D.
(C) 1868 A.D.
(D) 1870 A.D.

Which is not correct about the

Faraizi Movement ?
(A) It originated in Bihar.

(B) Its aim was the religious

purification of Islam.

(C) It used the Bangla language in

the Initiation Ceremony.

Its founders believed in

(D)
scriptural fundamentalism.

Which Act conceded the demand of
Legislative Council members to

discuss the Budget ?
(A) Charter Act of 1833

(B) Charter Act of 1853

" (C) Indian Councils Act of 1861

(D) Indian Councils Act of 1892

°, TBC : PKS-9517-NTP—A
INDIRESULTH
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34.

36.

Of the following, who was not the
member of Hindu Mahasabha ?

(A) Madan Mohan Malaviya

(B) Ras Behari Bose

(C) B.S. Munje

(D) Lala Lajpat Rai

Sohan Singh Bhakna and Baba
Harnam Singh were associated
with :

(A) Naujawan Bharat Sabha

(B) Ghadar Movement

(C) Congress Socialist Party

(D) Hindu Mahasabha

Which of the following is not
matched correctly ?

(A) Abul Kalam Azad — India
Wins Freedom

(B) Deenbandhu
Neeldarpan

Mitra

(C) Katherine Mayo — Mother

India

indiresult.in whatsapp - 9352018749
(D) Sarojini Naidu — Nation in

Making
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31. @wen H arga Avaw e wE Ny | g4, Frefefaa § feg wemw 1 99 9

& ? & our ?
(A) 1865 3. # T ﬁ
(B) 1866 . #
(B) vy fagd =19
(C) 1868 3. # .
(C) #t. TE. HH
(D) 1870 %. #
30, HUASH G @ AR § W wd A L) TSy IS M
T ? 35. Tea gz uee a9 @ gEm 9w
(A) g% fasm # Wy gam frad gafa 4 2
(B) zH=1 32¥d s @1 yfEE (A) Frsar wa Jw A
HEN 911 '
(B) TR Iare [

(C) 397 e Iq=E F "en W
(Q) HUE FarSEE] 9El 4

WA
(D) =5 wgrgs yHiig®: wiegar H (D) feg wwma |
PSR 56, Frefafan # = @@ wifm @
33. fag sifufem 3 fagm-ufteg & ag= 3 5
F T2 W FEE H FI A SR . :
== 2  (A) 2" Fow see — ged T
wiEd
(A) 1833 %. =1 WEL TEE
(B) 1853 . =1 =¥ U (B) Fray fr — Hiemdw
(C) 1861 3. ¥ 3fead FeEfaes T (C) ®gia ¥ — wey 3few
indiresult.in whatsapp - 9352018749 .
(D) 1892 . =1 3fea FEfacw we (D) st =g — JvE 3 At
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38.
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What of the following is not correct

about the Home Rule League 7

(A) It was based on the model of

Ireland.
(8) Aunie Besant established it

(C) Annie Besant wanted to make

India free through it.
(D) B.G. Tilak also established it.

Where was held the I1.C.S.

examination in India for the first

time ?

(A) Allahabad
(B) Agra

(C) Delhi

(D) Varanasi

- TBC : PKS-9517-NTP—A
Q’@lNDlRESULTE
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39. Consider the following statements

and select your answer from the
codes given below :
(1) Gandhi gave up his membership

of Congress in 1940.

(2) The Lucknow Pact was signed

in 1916.

{(3) The Cripps Mission was sent to

India by Lord Wavell.

(4) V.D. Savarkar organised the

Abhinav Bharat.
Codes :
(A) 1 and 3
(B) 2 and 4

(C) 3 and 1

indiresult.in whatsapp - 9352018749

(D) 4 and 3
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37. Frfafaa 8 ¥m wa dm F a8 d @ | 39. =1 w9d v faur wiog 991 9
wEr TE ® 2 Tm Fafafas w2 3 g3
(A) T AFTAS & 99 9% suenfia 41 (1)'*ﬁt:ﬁfl$ﬁnaﬁmaﬂmm.
(B) Tt Ff= 3 zEwT AN w1 1940 %. H fHan
(C) =9 W B Th a8 Ord B (2) TrEAs gHghal 1916 3. F g3
T A9 AEdl o | (3) @2 Faa 9 = favm = 9@
(D) zﬁ.sﬁ.ﬁa%awﬁmum T
1 9t (4) fiE sE =) 9.8 gEE A
38. wWra # wewww EIU™. w T wa R
wE W OB ? T :
(A) s (A) 1 891 3
(B) swm # (B) 2 a1 4
(C) Teeeit # | (C) 3 a=1 1
indiresult.in whatsapp - 9352018749
(D) aorE H (D) 4 991 3
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40. Who appointed the Boundary | 49 Which of the following is not

Commission in 1947 for delimiting
~ matched correctly ?
the boundaries of India and

Pakistan in Punjab and Bengal ? (A) Syed Ahmed Khan — The
(A) C. Rajagopalachari Deoband Movement

(B) Jawaharlal Nehru (B) Atmaram Pandurang — The

(C) Sardar Patel Prarthana Samaj

(D) Lord Mountbatten
(C) Vivekananda — Ramakrishna

41. Which of the following is not correct

Missi
about the Christian Missionaries e
which came to India ? (D) Madam Blavatsky — The
. (A) The Danish Protestant Mission Theosophical Society

was the first to come to India. , Y
: 43. Who of the following established the *
(B) The Missionaries enjoyed the

- - - ?
sivileiiei Tietng tha tasnbars Indian Society of Oriental Art ?

of the ruling power. (A) Rabindranath Tagore

(C) Most of the Indian Reform .
(B) Abnindranath Tagore and

Movements of 19th century

opposed them. Gagnendranath Tagore

(D) The Charter Act of 1853 (C) Surendranath Banerji and

granted them the right to visit Anandiya Banedi

India and liberty to preach indiresult.in whatsapp - 9352018749
(D) Subhash Chandra Bose

Christianity there.
* TBC : PKS-9517-NTP—A " 16
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42. =t # w9 o ¥ ?
Yo gun S w1 amnd fyifa s @
= feu dtm-amam faes g e 2 (A) Tz swwg @l — ZEas Qe
(A) €. TerigETeE 3

(B) #emOH qUEET — Wb wEe
(B) SrEmETEns S A

(C) HER wea A (C) faawr= — e fHyE

D) #E TEzaed A
b (D) #ey sEzss — oS
41. = $o famfet vra o, o e |

frfefan 3§ & =0 wE w8 ¥ 2 Hrard

(A) =0T &1 We= faym wdwgn 5. R i N e P ik

aE S
A e gm——" g 0 IR R
% ge B W fadmfasr wra ks Gy WAL
a1 | |
(C) wra = 1981 |t & vy (B) srEAigy My a9 M=

—aTiETeEl A 31 fadyge H1 1
e T A

. (D) 1853 % & e 3 =2 indiresult.in whatsapp - 9352018749

wHu HA W AfUER a6 (C) G St e af=a & 3
o 1 T8 9 WE HA H A
R (D) FguEEs a9 A
“TBC : PKS-9517-NTP—A 17 P.T.O.
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44. Henry Vivian Derozio is associated

45.

with :
(A) Self-Respect Movement
(B) Arya Samaj Movement
(C) Seva Sadan

(D) Young Bengal Movement
the

Arrange following in

chronological order, and select the

answer from the codes given below :
(1) The Indian Universities Act
(2) The Saddler Commission

(3) The llbert Bill

(4) The Swadeshi Movement
Codes :

(A) 1, 2,3, 4

(B) 2,4,1,3

(C) 3,

Y ¢ /1L

1, 4, 2 »

TBC : PKS-9517-NTP—A
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46. Consider the following statements

and select vour answer from the

codes given below :

(1) Munshi Prem Chand started

writing first in Urdu.

(2) B.R. Ambedkar is associated
with the Bahishkrit Hitkarini

Sabha.

(3) The Indian Universities Act was
passed in the time of Viceroy

Lord Hardinge.

(4) The newspaper “Ghadar” was
first published in Hong Kong.

Coc;es :

(A) 1 and 2

(B) 2 and 3

indiresult.in whatsapp - 9352018749

(C) 3 and 4

(D) 4 and 2
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T fafasm 2ofea frad gafaa € 2

(A) Foh-frime anEe A

(B) omd T g |

(C) ¥ WA |

(D) @7 FmE R |

e #1 FTEHATHEN FHAE HIAY

qgT IW @ =994 efafad w2 9
FITAT :

(1) f& e gfefdEn o=
(2) g d=or wHwA

3) fa == fa=

(4) w&2E FEEH

HE :

(A) 1, 2, 3, 4

(B) 2,4,1,3

(C) 8,1, 4,2

® 4, 3 2 1 (@) NDIRESULTE
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(#)WpiresuLTe

46. 9= ga=a v fa=sm wifsw 99 &9A

I w1 =wEq = 3z § 9 wife
(1) =yl daay 3 weEwgs 35 8 foam
e A

62) .3, STATFHT Alaspa feaaif

|q ¥ gEEE g

(3) amETa #E wfen & wg e
Ffrafidy we wim gl

(4) "7 ATHE FEER H UGH THEH
g § g

wH

(A) 1 91 2

(B) 2 9= 3

(C) 3 @a 4

indiresult.in whatsapp - 9352018749
(D) 4 991 2
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47. Which of the following is true 49. Consider the followmg statements

about the Theosophical Society :

abouns: Raja: ferl: Vierms,: & grestar (1) Its doctrines were influenced by

painter ? occult mysticism,

(2) It used the Hindu and Buddhist

(A) He belonged to a royal family terms and concepts.

of Rajasthan. (3) Annie Besant was a Scottish

woman,
(B) H bined the Indi d
S Bomnaans AL (4) She became the member of

Western styles in his paintings. Congress in 1905.

Select your answer from the codes

(C) He disregarded the Indian :
given below :

mythological themes in Codes :
paintings. (A) 1 and 3
(B) 2 and 4
(D) He learnt paintings at the
(C) 2 and 3
St ALk (D) 1 and 2

48. Who designed the Victoria Memorial | 50. Which of the following is not
matched correctly ?

(A) M.S, Subalakshmi — Carnatic

(A) Sir William Emerson Music
(B) Rukmini Devi — Bharatnatyam

Hall in Calcutta in 1906 ?

) R.F. Chishol
@ e (€ Fiart Navain Apte — Ovia

Literature
(C) H. Irwin (4'; NDIRESULT indiresult.in whatsapp - 9352018749
YOUR SUCCESS PARTNER (D) A]auddin I{}lan —— Hind I ni
(D) None of the above Music

TBC : PKS-9517-NTP—A 20
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ren 1 gHi, Sife U Her faawn 9,

HE o H F o FmoaEd ¥ 2

(A) 9% TSEATEH @ WS uud R/

grEft-gd 411

(B) =99 a1 fazmmen § wrdE™ a4

ufyedt gl @1 afmsm R

(C) 3w Fazwren § drofors fawdi =1

HHEAT B |

D) T 40 =AY W g f femwen |

T |

1906 %, # FE=ww & fagdifen AaiEe
e # watE fwmed e = ?
(A) w fafemy TaeEa |

(B) H.us. fasiesn 3

(C) = ¥ET 3

nnnnnnnnnnnnnnnnnn

(D) 39dFa § | w @

TBC : PKS-9517-NTP—A
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49.

50.

forrsEe geEet @ ar o = aEae
g7 fa=m Fifse

(#)WpiresuLTe

(1) zu= fegra Ta-wEEE | gEa
)

(2) = drg T g v A fa=rd
w1 wam fma ¥

(3) T A= um wfenm wfeen o)

(4) =% 1905 %. # FHHH I [IE
ol |

v Zwn fae=fafam w5z | |34
=iy,

wHE

(A) 1 @9 3

(B) 2 941 4

(C) 2 @91 3

(D) 1"a91 2

fre # @ =6 gafoa W& ¥ 2
indiresult.in whatsapp - 9352018749
(A) TRUE. AW — SAlfes T
(B) sfmoft q=l — wREAREH

(C) #faEm s — 3fgm mﬁm

D) =EmEiE wm — fegeart g
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Who was the first biographer on
Mahatma Gandhi 7

(A) Acharya J.B. Kriplani
(B) Vinoba Bhave

(C) J.J. Doke

(D) Rajendra Prasad

Which of the following is not a part
of Mahatma Gandhi's ideology in the
Hind Swaraj ?

(A) India’s Varna system is not an

ideal one.

(B) Indian civilisation is
undoubtedly the best because
of its immense assimilative

power.

(C) The industrial capitalism of the
West is responsible for all
conflicts, for it has divorced
economic activities from moral

concerns,

(D) In our contemporary times, the
lawyers, the doctors and the
railways are making the

country poorer.

(#)DIRESULTE

53. Of the folowing, who were the first

two Satyagréhis of Mahatma Gandhi
in Individual Satyagraha ?

(A) Vinoba Bhave and Jawaharlal
Nehru

(B) Vinoba Bhave and Rajendra
Prasad

(C) Sardar Patel and Vinoba Bhave

(D) Rajendra Prasad and Sardar
Patel

Consider the following statements,
and select the correct answer from
the codes given below :

(1) Gandhi launched the Swadeshi
Movement in 1905.

(2) In Gandhi’s philosophy, there
was no alternative for morality.

(3) Gandhi was opposed to
renouncing one’s religion.

(4) One should not mind meddling
into the other’s affairs, if they
were opposed to you.

Codes :

(A) 1 and 2
(B) 2 and 3
(C) 3 and 4
(D) 4 and 1

TBC : PKS-9517-NTP—A 29 indiresult.in whatsapp - 9352018749
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= ol (B) farirn W@ AW TR EE

(B) fearfran =13 (C) TER Tee agn fadm uE
(C) AX. = (D) TH= WEE 99 TER T2d
(D) THE TEE 54. fre a=wasat 9y fa=ar #Hifsw e
Aft T & wEa frefaras w52 |/
52. frm # fég-wmw #§ & Hewd i -
i F fremern w1 feww @ ¥ 2 (1) T ¥ 1905 ¥ § T S
sy faan
(A) WG W avi-sgEr UH ey '
i & @) st @ 29 H Afawm w1 wE T
‘ fasreq =& 411

(B)‘TWFWWUW (3)1ﬁtﬁmuﬁma’?ﬂ&?ﬁ

sy WHIETT & FRV wEad T 4

4 (4) =fz Tt e fadw w@ g @
(©) fraw w1 shafim deEm @i ?mmammmm

Tl & foru fondien &, Eifs 39 % :

anfeds fafafudl =1 3fas v (Ay. 1091 2

% o e B (B) 2 @ 3
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55. What was not a part of Mahatma

56.

Gandhi’s scheme of Education ?

(A) Free compulsory education for
boys and girls from 7 to 14

years

(B) Vocational education

(C) The University education
should be for meritorious

students only

(D) Its goal is character building
and understanding social
responsibilities

The direct effect of deficit financing

is that :

(A) Employment situation worsens

(B) Demand and Supply of output
increases

(C) Pushes up prices

(D) Makes market more competitive

. TBC ; PKS-9517-NTP—A

@)

N

DIRESULTE
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SUCCESS PARTHNER
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57.

58.

59.

(#)DIRESULTE
In which year was the Fiscal

Responsibility and  Budget

Management Act passed ?
(A) 1991
(B) 1999
(C) 2005
(D) 2010

Vijay Kelkar Committee 2012 was
related to which of the following
subjects ?

(A) Banking Reforms

(B) Fiscal Consolidation

(C) Tax Reforms

(D) Subsidies

Which ‘sector has the largest
contribution in India’s Gross

Domestic Savings ?

(A) Public Sector

(B) Public Sector Enterprises
(C) Private Corporate Sector

indiresult.in whatsapp - 9352018749
(D) Domestic Sector
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55.
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&)
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werenl et 1 fen-gien 1 9T 34

ﬁifm?

(A) 7 A9 T 14 99 B TASh-cIgihdl
% fou qwa afed foien

(B) =arawnfas - faem

(©) favafazem =1 faen Faa =
g faenfu=si & foo & &4
Rliia

(D) o 3evg afia- i am grnfes

fordefiat wwg ®

e = faw =raee w1 |9 uWE B

20 ¢
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(D) =TSR w sfgw wfeegdl aEw ¥

NDIRESULTH

OUR SUCCESS PARTHNER

25

58.

59.

(A) 1991
(B) 1999
(C) 20056
(D) 2010

fasra Seawy gfafa 2012 =1 &y 7=
H A g fagg 9 a1 7

(A) #feen gur
(B) TshidrE HER
(C) T U

(D) FEH

9 F THFA U Fg=wd § A &7
sferran dre™ a1 ¥ 7

(A) wrEwfTs 4=
(B) WES"F @A & IUHA

() =it a2
indiresult.in whatsapp - 9352018749

(D) =ig &4
P.T.O.
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60. A rolling plan is a plan for :

(A) One year
(B) Two years
(C) Three years
(D) Five years

61.

Literacy rate is found in :
(A) Sikkim

(B) Manipur

(C) Uttarakhand

(1)) Meghalaya

Coalfield Ltd. is located at :
(A) Mumbai
(B) Nagpur

(C) Vadodara

(D) Alwar }(:(’j !N ,

TBC : PKS-9517-NTP—A

IRESULT

SUCCESS

Among the following, the highest

The headquarters of Western

PARTHNER
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64.

65

Pancheshwar Multipurpose Project

Treaty has been signed between :
(A) India-Bangladesh

(B) India-Bhutan

(C) India-Myanmar

(D) India-Nepal

Plateau of India divided as
MALNAD and MAIDAN Plateau
8 :

(A) Mysore Plateau

(B) Telangana Plateau

(C) Chota Nagpur Plateau

(D) Malwa Plateau

. Influent drainage, Bangar soil,

Doabs are the features of :
(A) Indo-Sutlej Plain

(B) Ganga Plain

(C) Brahmaputra Plain

indiresult.in whatsapp - 9352018749
(D) Mahanadi Plain
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60. & ‘AfEm deE’ Be ® oo 63. UYL AEILvid WA Wiy 9T gEanan
& g9re 29 T ¢
(A) T =4 % fau
(A) HE-=eney]
(B) @1 74 & fag
(B) W@-2H

(C) & ad & fau .
(C) WRE-MHR
D) qfg 3d &

o L (D) Y- 39Te

81, 5 A WA WA T 64. WA 1 TS S Hes U4 He 92

it ¥ # fawfom %, %
(A) ol 4 (A) 5T T=R

(B) =forqz # (B) d&mmEl war
(C) 3Swravs # (C) B AT TSH

(D) darEg (D) o

65. B S WA, 9UR HE1 a9l 1™ &=
62. = wepies fa. = gemen faga

ey % $
@) g% ¥ (A) Fo-waera e &
(B) =g H (B) 7m R B
() @gma # . (C) wEIgd Fo &
6:/0 |NDIRESULTE indiresult.in whatsapp - 9352018749
(D) 3@aL ¥ (D) werEl & H
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66. TODA are Tribal Community found

67.

in the state of :

(A) Gujarat

(B) Kerala

(C) Andaman and Nicobar
(D) Odisha

India became a signatory to the

Ramsar Convention in 1982.

Ramsar Convention is related to :
{A) Wetland Conservation

(B) Lakes Conservation

(C) River Conservation

(D) All of the above

Among the following which river
basin having the largest catchment

area ?

(A) Mahanadi
(B) Krishna
(C) Narmada

(D) Kaveri

TBC : PKS-9517-NTP—A

69.

70.

71.

(//J \"OI.IE lll.lct ESS FAETNEEI;
Which one of the following stations

receives minimum average annual
rainfall 7

(A) Bhopal
(B) Hyderabad
(C) Lucknow
(D) Raipur

Among the following, the Eastern-

most location city is :
(A) Lucknow

(B) Jabalpur

(C) Hyderabad

(D) Bangalore

Which one of the following
statements is wrong about earth ?

(A) Ozone layer protects the life
from the harmful ultraviolet

radiations coming from sun

(B) Biodiversity is richest in the
tropics
(C) Microorganisms play an

important role in the nutrient

cycling
indiresult.in whatsapp - 9352018749
(D) Nearly 29% of the earth surface

is covered by water
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indiresult.in whatsapp - 9352018749

. ZreT SEwfd THEE U S ¥ o
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(B) &t #
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(A) W
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o waa (B)INDIRESULTE

RTNE

TBC : PKS-9517-NTP—A

29

69.

70.

71.

freifafag =yt § =gFan shaa aifds
g9l @En w2YE o

(A) NraTe
(B) TeUEE

(C) &&@+=

(D) T
frefefaa 3 waq gd d fega ol
¥

(A) T&E15

(B) STaegt
(C) T=TErR

(D) =R

geA] & an # faefatea § | S8
HYT AT ® 7

(A) oA 9ed, g4 |/ &1 =it s
wregraTsee faferol § il &1
FA

(B) Sa-fafaum =1 safusas w=@

FwrfzadE a= 5 ¥
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it #Q Fa &

(D) gt 1 T 29% WO WEH A
a0 2

P.T.0.



72.

73.

74.

TBC : PKS-9517-
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Lithosphere is the :

(A) Innermost core of earth

(B) Part of the earth covered with

water

(C) The lowest layer of atmosphere

(D) Uppermost layer of the earth
crust which is capable of

supporting life

Igneous rocks are formed by the :

(A) cooling down of volcanie
eruptions

(B) deposition and lithification of
‘sediments

(C) deposition of plants and dead
animals

(D) deposition of limestone

Which city is known as the ‘silicon

valley' of India ?
(A) Dhanbad
(B) Aligarh

(C) Bangalore

(D) Nagpur

75.

76.

PARTHNER

Y,
(#)NDIRES
Main use of a Nuclear Reactor is

to :
(A) store the radioactive material

(B) produce electrical energy from
the energy released during

nuclear fission

(C) measure electric current in a
circuit
(D) transmit the optical signals and

the two-dimensional pictures

Compressed natural gas is now
being used as better fuel than
gasoline for running vehicles

because of its :

(A) complete combustion and no

unburnt release of carbon

(B) incomplete combustion and

release of methane

(C) high ignition temperature
(D) low calorific value and the

indiresult.in whatsapp - 9352018749
engine remain cool
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75.

76.
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7?2

(A) Iediepd werd w1 WUZRO

(B) fipsry faa=ss & =wom fagE
Fo ¥ faga s =1 3RS

(C) W faga wiwg # fagauw =
BTG
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EEE)]
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H wiifen wefrr 9 &1 2@ U S
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78.

79.
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Which one of the following is used
in the rear view mirror of the
vehicles 7

(A) Concave mirror

(B) Convex mirror

(C) Plane mirror

(D) Concavo-convex mirror

Which one of the following
is responsible for the Ozone
depletion ?

(A) Carbon monoxide
(B) Sulphur dioxide
(C) Nitrogen oxide
(D) Chlorofluorocarbon

In children, Kwashiorkor and
Marasmus diseases are caused by
the deficiency of : '

(A) Vitamin D
(B) Vitamin Bg
(C) Protein

(D) Fat

RISHTA project in Himachal
Pradesh refers to :

(A) LED based street lighting
project

(B)
()
(D)

Tree plantation programme
Sarva Shiksha Abhiyan

Road construction to every
village

°, TBC : PKS-9517-NTP—A
INDIRESULTE

YOUR SUCCESS PARTHNER
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81.

82.

83.

Who was the Prime Minister of
Britain at the time of India’s

independence ?
(A) Clement Attlee
(B) Ramsay MacDonald

(C) N. Chamberlain

(D) Winston Churchill

The Anti-terrorism Day is celebrated

on :

(A) May 23

(B) September 31

(C) September 30

(D) May 21

The‘Prime Minister of India recegtly
launched a.satellite service for the

SAARC countries. It was :
(A) GSAT-8
(B) GSAT-9

(C) GSAT-H

indiresult.in whatsapp - 9352018749.

(D) GSAT-4
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81.

82.

83.

g w1 =maAa @ a9g f62q = aue
A w1 a1 ? |
(A) #onfz uzel

(B) THH HwElaes

(C) . F&TeA

(D) faw=a =fda

sEware faadt fam v s ¥ o
(A) ®% 23

(B)Wm

(C) Toav=y 30

D) =E 21

m%umﬁsﬁﬁmﬁﬁmaﬁﬁ
# fau zuug ¥ &1 gEAW@ w1
‘qg;n:

(A) GSAT-8

(B) GSAT-9

(C) GSAT-5

indiresult.in whatsapp - 9352018749
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84. ‘Digi Yatra' is an initiative of :

85.

86.

» TBC : PKS-9517-NTP—A
Q’@lNDlRESULTE

(A) Ministry of Civil Aviation
(B) Four Dham Yatra

(C) Ministry of Railway

(D) Ministry of Road and Transport

Recently Sukama valley came into
news for killing of armed forces. The

valley is located in :
(A) North Kashmir
(B) South Kashmir
(C) Chhattisgarh
(D) Jharkhand

Which of the following is not correct

about Leela Seth ?

(A) She was the first woman justice

of Delhi High Court

(B) She was the first woman Chief
Justice of Himachal Pradesh
High Court

(C) She was throughout an RTI
activist

(D) She passed away recently

YOUR SUCCESS PARTHNER
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87.

88.

89.

Qmp.lﬁm.

Which river is called as the Ganges
of the South ?

(A) Godavari

(B) Krishna

(C) Cauvery

(D) None of the above

Which Indian state has least literacy
rate ?

(A). Bihar

(B) Rajasthan

(C) Orissa

(D) Arunachal Pradesh

Which one of the following is correct

about corporation tax ?

(A) Tt is tax which is levied by the
local bodies
(B) It is a tax on the profit of

companies

(C) It is an indirect tax
indiresult.in whatsapp - 9352018749
(D) It is a tax that is levied by

Municipal Corporation
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Who was the first Muslim President

of Indian National Congress ?
(A) Hakim Azmal Khan

(B) Abul Kalam Azad

(C) Rafi Ahmad Kidwai

(D) Badruddin Tyabji

Vishwa Mohan Bhatt is related

to :

(A) Santoor

(B) Mohan Veena
(C) Sarangi

(D) Violin

the

Constitution falls in :

Education in Indian
(A) Concurrent list

(B) Central list

(C) State list

(D) Residuary list

The Parliament of Israel is known

as :
(A) Great Hural
(B) The Knesset
(C)

(D)

Stortinget .

Staten @
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Who was the key person who
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SUCCESS PARTHNER

persuaded Gandhi to come to

Champaran in 1917 7
(A) | Rajkumar Shukla
(B) Vinoba Bhave
(C) Acharya Kriplani
(D) Motilal Nehru

Which Indian bowler became the
first ever to complete 50 wickets

in two consecutive calendar years

2015-2016 ?

(A) Ravichandran Ashwin
(B) Muhammad Sami

(C) Jasprit Bumrah

(D) None of the above

Indian Women's Hockey Team
beat which country to win Asian
Champions Trophy 2016 ?

(A) Malaysia

(B) China

(C) Japan

indiresult.in whatsapp - 9352018749
(D) South Korea
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Sampriti is a joint military training
exercise between :

(A) India and Bangladesh
(B) India and Russia
(C) India and America

(D) India and Israel

World Sanskrit Award 2016 was

given to :
(A) Professor George Cardona
(B) Chakri

Princess Maha

Sirindhorn
(C) Professor Sheldon Pollack
(D) None of the above

Who won the best FIFA football

player award 2016 ?
(A) Lionel Messi

(B) Cristiano Ronaldo
(C) Antonie Griezmaan

{D) Manuel Neuer

° TBC : PKS-9517-NTP—A
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100.

101.

102.
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The Champions of the Earth Award

THNER

is given by the :
(A) United Nations
(B) United States of America
(C) European Union

(D) Sweden

The First BRICS film festival was
held in :

(A) Delhi

(B) Moscow
(C) Beijing
(D) Peking

Which of the following films got the
Golden Peacock Award at 47th
International Film Festival of
India ?

(A) Bridge of Spies
(B) The Danish Girl
(C) The Revenant

indiresult.in whatsapp - 9352018749
(D) Daughter
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103. Lalima Abhiyan for anaemia-free | 106. Project Vishwajeet is mooted by :

state has been launched in : (A) HRD Ministry

(A) Gujarat (B) Defence Ministry

(B) Madhya Pradesh (C) Agriculture Ministry

(C) Maharashtra (D) Road and Transport Ministry

(D) Himachal Pradesh 107. Justice R.V. Easwar Committee

104. Jail Jyothi Yojana to promote constituted by the government of
literacy among the jail inmates was India was to deal with :
launched in- (A) Fiscal Deficit
(A) Kerala

(B) Market borrowing

(B) West Bengal (C) Income Tax

(C) Orissa (D) None of the above

(D) Delhi 108. Cassini is a joint b;pace mission of :
105. Bharatmala is a : (A) NASA and ISRO
. (A) Road and highways project (B) NASA and France Space

connecting the borders and Agency

rte tal li
ports on coas ines (C) NASA and European Space

(B) Linking River Project Agency
o . indiresult.in whatsapp - 9352018749
(C) Reviving small airports (D) ISRO and European Space
(D) Linking universities project Agency
. TBC : PKS-9517-NTP—A 40
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‘Operation Sankat Mochan’ was

Jaunched by :

(A) Indian Air Force
(B) Indian Army
(C) Nepalese Army
(D) Indian Navy

Who was selected for the 52
Gyanpeeth Award for 2016 ?

(A) Shankar Ghosh
(B) Padma Sachdev
(C) Chhatrapal

(D) Bulaki Sharma

TSR Subrahmanyam Committee
which recently submitted its report
to the government of India dealt
with :

(A) National Education Policy
(B) National Health Policy

(C) Police Reforms

(D) None of the above

* TBC : PKS-9517-NTP—A
(#)WoiResuLTE
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113.

114. Article 280

IRES

112. Richard Verma is :

(A) Governor of California

{(B) Member of the US Senate

(C) Member of the House of

Representatives
(D) US Ambassador to India

Who among the following received
the Nobel Prize in literature for
2016 ?

(A) Bob Dylan

(B) Oliver Hart

(C) Y. Ohsumi

(D) Bemard. Feringa
of

the Indian

Constitution deals with :
(A) Planning Commission
(B) Inter-State Council

(C) Finance Commission

indiresult.in whatsapp - 9352018749
(D) The Supreme Court of India
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The Financial Emergency under
Indian Constitution is mentioned
in :

(A) Article 360

(B) Article 354

(C) Article 359

(D) None of the above

Which state of India has the largest
coastline ?

(A) Gujarat

(B) Maharashtra

(C) Kerala

(D) Tamil Nadu

Shunglu Committee was formed by

Lt. Governor of Delhi to examine :

(A) 400 files on which AAP

government had taken decision

(B) Specifically Tanker Scam in

Delhi

(C) Water Supply in Delhi

(D) Electricity Distribution in Delhi

* TBC : PKS-9517-NTP—A

@

INDIRESULTE

YOUR SUCCESS PARTHNER

14

118.

119.

120.

In which state were the Panchayati

Raj Institutions introduced ﬁrs't ?
(A) Maharashtra

(B) Rajasthan

(C) Gujarat

(D)' Karnataka

In whom the executive authority

of India is vested by the
Constitution ?

(A) The President of India

(B) The Council of Ministers

(C) The Prime Minister

(D) Cabinet

Which c;rgan breaks fat to produce

Cholesterol ?
(A) Liver
(B) Kidney
(C) Pancreas

indiresult.in whatsapp - 9352018749
(D) None of the above
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